Quiz B: 7/13/15

Name

Ken

Note: The following price and payoff information is on a per-share basis.

Assume:

1) The risk-free rate varies by maturity as follows: 1-year = 1%, 2-year = 3%.
2) The following prices, shares available at the prices, and payoffs for Revolving Greek Crisis and the market are

given in the table below.

Bid Ask
Security Price  Number
Market Index $450 500 $455

Revolving Greek $700 300 $705

Price  Number

Payments in two
years if economy is

Payments in one
year if economy is

Weak Strong Weak Strong
$100  $300 $900 $1000
$0  $200 $1200 $1300

What set of transactions today will generate the highest possible arbitrage profit for you today. In your answer list
all transactions required today and all individual and total cash flows today, a year from today, and two years from

today. List also the transactions two years from today that generate the cash flows if the economy is strong. Use a
“+” for inflows of cash and *“ — “for outflows of cash. Note: | recommend setting up a table like is in the notes.

Equwalent 4o [ ceek:

Bup Market +sWark cpbond paning £10D in 1y ¥ bk of oA paying $350 v 2y

100

300

Bonh priccs. \-hr=——=94.0099; 2-hr= o3 =2¢€2 77

i-01]
Prssinle Ao tage :

Snort (reeekt by porkhalo: T = 4300 - 455~ + 44,0094 - 24200 44z +blzan v
Buh Greek ¥ Shact poet AL0TI= =08 +UsP -95.0099 4202 3¢(= -71.2311 ¥

MNax. <hores =300

Smittiply all #¢ below vy 300°

Tlangackon CFo w £
— +5 - g
Snocksel (Ficex +79:1§; o**
+
Bum micket -tss ¥ oo
te v r2
Snortsell Iyry +9900% - (00 -
+5 +2
Buny 2 4 -2 NK _—y

Todn | *6l231) gt o+

s T/A0S4efid N

W iy
2 -rod -13p0"* Puy 4o ( over Lreek
X
+z +3 b0’ '\"100“' + Iﬂob+2' Sell M arket ®

_ ¥+l _+i - Y2

+300 0 +300 ~ Bond Mmatuces 2

+]

p g



